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B. Com. (Sem. II) (CBCS) Examination
March / April - 2018
Business Mathematics - 2
[New Course]

Time : 2% Hours] [Total Marks : 70

YAl ¢ wuell euy el suldd 8.

1 () FManasa FHaH oeudl.
() 2wkt sA 3 -

0 ab® ac?
a’b 0  bc? =2a3b3c3,

a’c b*c 0

(5) Gl : 5
x 1 1
I x 1].
1 1 x

(3) Bua A 5

3x+11 3x+10 3x+8
3x+10 3x+9 3x+7].
1965 1964 1962

»Yql
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(o1)

(%)

(2)

1l A wlswi Gl :
Ox+4y=5xy, 15x-2y =4xy.
Al sA 3

X+z xX—z X—Y
y—z z+x y-x|=8xyz.
z—y z—X X+Yy

[0l $3l Q2R AUBLd 5 3 ¢

0 a -b
—-a 0 c|=0.
b —-c 0

ARLS 2 MAds AR dslad AHdl.
ey B

(1) =D AlRus
(2) 2su Als

1 O 3 1
A A= , AB = Sl dl Als B
3 -2 5 1

QL4
0 4 3

A A =1 =3 3| dudaks 4 @4
-1 4 4

3 4 . .
n A= 5 3 sadl A+ A4 + A4 QL.

Yql

n
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() cuval 24
(1) AMa ks
(2) urd Als

1 3
(o) A Alus 4 = [2 4} A dl ARs B AWl 3 ¥l

A +2A4+B=0 .

1 -1 2 0 0 1
5) A A'={3 0 4|,B'=[1 2 3|a
1 1 3 1 3 4

(AB)_1 ).

N
|
N
o0
N

@) A1 A=]-1 2 1| €ud aks 4 0.
3 -3 6 3

sduRL 9L QRN :

(1) lim x - 27
=3 fx+1-2
i x_% -1
7 XIE% x_% -1
3x* +8x—4

(3) lim
x> 2x% +4x -5

15
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(5) lim 3
n—oo n
4 (2) W) s : 8
7 +8 +9 + .. +20°.
(&) 77 WOl ARAGN S : 7
(3)(5)+(6)(7)+(9)(9) +reorrn..
wdl
4 () 7 Ul ARAGN K ¢ 8
412473 +10-5% +.........
(60) oulRidla 2L Rigid-l Gualol s34 Alid 30 3 7
nin+l)(2n+1
12 +22 432+, +n? = ( )6( ).

ENGLISH VERSION
Instruction : Marks are indicated on right side.

1 (a) State the rules of a determinant.
(b) Prove that 5

0 ab?® ac’
a’b 0 bt |=2a0C3

a’c bc 0
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(c)

(d)

(b)

(c)

(d)

Solve :

x 1 1
I x 1
I 1 x

Find the value

3x+11 3x+10 3x+8
3x+10 3x+9 3x+7].
1965 1964 1962

OR

Solve the equations by Cramer's rule

O9x+4y=5xy, I5x—-2y =4xy.

Prove that

X+z X—z X—Yy
y—z z+x y—-x|=8x)z.
z—y z—X X+Yy

Without expanding prove that

0 a -b
—-a 0 c|=0.
b —-c 0

Explain difference between matrix and determinant.
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(b)

(c)

(d)

(b)

(c)

(d)

Define : S
(1) Square matrix
(2) Unit matrix

1 O 3 1
If A= , AB = find matrix B. 5
3 =2 5 1
0 4 3
If AT=11 =3 -3 find matrix 4. 5
-1 4 4
3 4 . O
If A= find A+ A + A4 . 5
2 3
OR
Define : S
(1) Symmetric matrix
(2) Inverse of a matrix
1 3
If matrix 4 = ) 4 find matrix B such that 5
A +24+B=0.
1 -1 2 0O 0 1
r A =3 0 4|,B'=|1 2 3|find 5
1 1 3 1 3 4
(4B).
4 -4 8 4
Ifl{1| A=|—-1 2 1| find matrix 4. 5
3 -3 6 3
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3  Attempt any three : 15

_ x> =27
(1) lim

=3 x+1-=2
-1
xﬁ—l

lim ——
@ lim—
1 xé -1
. 3x* +8x—4
3) lim

x> 2x* +4x -5

r (2x—3)(x—1)
(4) m

=l 2x? 4 x =3

o lm =
4 (a) Find the sum of 8
7 +8 +9 +..... +20°.
(b) Find the sum of 7 terms 7
(3)(5)+(6) (7)+(9) (9) 4 sorre.
OR
4 (a) Find the sum of z terms 8

417 +7-3% +10-5% +......... :
(b) Using the principle of mathematical induction prove that 7
n(n+1)(2n+1)

12 +22 +3% + ., +n? = - :
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